Math373 Quiz 4 Fri. Feb 7, 2014
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Directions: Show all work. No credit for answers without work.

1. [2 points] Give a definition of ord,(n). (There are several equivalent ways to define this;
give only one.)
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2. [2 points] Find ord7(4900).
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3. [2 points] Give 3 different examples of an integer n that satisfies orda(n) = 3.
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4. [2 points] Let m be a positive integer and let p be a prime. For each algebraic structure
below, circle the arithmetic operations that are well-behaved.
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5. [2 points] Let a and b be positive integers such that ordz(a) = orda(b). Let k be the
common order of 2 in both a and b; that is, k¥ = orda(a) and k£ = ordz(b). Prove that if
orda(a +b) > k+1.

Sw{,(,ﬁ, Orc‘)i (6) = G’Jl(b) = IL! JL /;//cu,) 7Zuu%

le )

= 2 O
| Ak /
b=2" )
Sor  Sewd  n *‘iy"b a . b T ave il (}/\/,g,lzfg

[Oj A . W"X S ulansS TThad 03 CL&%‘} 6 o e o 6/‘,;/ )

f/\j}éi (“zw/f@i@
Otb = 2 + 2" b = lk(‘é‘}“?’;),

Sua  Te Som fouo M}(} m L{ji,u’j S wen, s 74)//“%

/h/wf& 6{1 + Lp = 2 U ,v,jjé,/ Sl /;l%,w A /zzwg%wx

Arb= it (6’5 L)) - ‘ VA ZM u cxw) so 2‘&” ) a+b

SQVLUL @”L}A (a4 b) A W}; ! /D oWt~ 5/[] ,Z Thak . (J/.,i’j
yi

x b[ e conclvle 'ﬁwd Of,;)é(;l/j) z ket Zn



